12th Grade                                                Mid term Exam 

{1.} read the following text carefully then answer the questions that follow 
	Around this time of year, lots of people make resolutions to change their lives. Of course, it's natural to associate a new year with new beginnings, but doing something new brings benefits to your life whenever you choose to do it. In fact, new year is possibly one of the worst times of the year to make life-changing decisions if you want to stick to them: in Europe and north America, it coincides with the middle of winter. With its ling hours of darkness and cold wet weather, this is definitely not a season to be optimistic. This may well be why, as many studies have shown, most people who make new year's resolutions usually break them after five weeks.
So, whatever time of year it is, you might decide to learn to speak Chinese, take up long-distance running, become a poet, or whatever. How do you make sure you don't start with great enthusiasm, but them give up soon afterwards?  


Answer these questions.
1. The text mentions two things wrong with the idea of New Year's resolutions.
a. ----------------------------------------------------------------------------------------------------------------------b. ---------------------------------------------------------------------------------------------------------------------

2. Why do most people make new decisions before New Year's Eve begins ?
------------------------------------------------------------------------------------------------------------------------

3. Find words from the text that have almost the same meanings as:

a. connect -------------------------------- b. a strong positive feeling ------------------------------------------

4. Complete the following sentences with words from the text above:

a. Students should --------------------------- their revision timetable for the final exams.

b. Mohammad has just started learning how to play piano, so he is full of --------------------------------

5. What do these pronouns refer to?

a. it {line 3}----------------------------------------------------

b. them { line 4}----------------------------------------------

6. Life-changing decisions means---------------------------------------------------------------------.

7. adding the suffix – ever to the question word { whatever }means:

a. it doesn't matter what                                    b. the question what changes with time

8. decide whether the following statements are true or false:

a. it is strange for people to take resolution on New Year's Eve.  {       }

b. in Europe and north America, New Year coincides with the middle of winter.   {      }

{2} Read the following text carefully then answer the questions that follow:

	There are some who question whether globalization is really something new. After all, they argue, if you look at what was happing in the 18th and 19th centuries, or even earlier, doesn't it seem very similar? Companies in Europe and north America, supported by their governments, were opening up the rest of the world, searching for cheap raw materials. They transported these back to their own factories and produced manufactured goods, then sold them at a huge profit. The world became linked by trade and business.

In a sense, this view is correct, but what it underestimates is the scale and speed of the changes that have taken place in the last thirty years or so. And the key role in these changes is that of computer technology, because it underlines all of them. Thanks to developments in digital technology, for example, it is now possible to move vast amounts of money around the world in seconds. Currency trading now goes on almost 24 hours a day, and it has been estimated that the amount of money traded has gone up by several thousand per cent in the last forty years. Decision taken in a stock market in one country can have a disastrous effect on countries on the other side of world, and entire national economies can be destroyed almost overnight.
What we are seeing today clearly is  something different and new. It affects us all, and it relates not just to areas like trade, business and economies, but also to culture, entertainment, what we eat, how we communicate with each other and even how we see ourselves, our relationships and our lives.


Answer the following questions.
1. what disadvantage of instant currency movement does the text mention?

-------------------------------------------------------------------------------------------------------------------------2. Why is globalization important for everyone?

-------------------------------------------------------------------------------------------------------------------------3. Technology is very important to these changes because

-------------------------------------------------------------------------------------------------------------------------4.  The word {linked} is used in the text as ------------------.

a. a verb                       b. an adjective                    c. an adverb                        d. a noun

5. It { underlines } all of them. The meaning added by the prefix " under " is---------------
a. at the level below         b. not enough            c. at the level above             d. enough
 6. The underline linking phrase {after all} is used to show -------------------------.
a. here is a good reason why the sentences before it true.
b. the next sentences is even stronger than the last one 
c. the next sentences opposite of the sentences before 

d. the next sentences means the same as the last one, but way be simpler

7. The underline pronoun {them} refers to ----------

a. raw materials                b. factories                   c. companies               d. manufactured goods

8. The closest meaning of the ward {vast} is ------------------

a. very little                  b. very tiny                  c. very large                 d. very small amount  
9. The opposite meaning of the world {clearly} is ----------------
a. apparently                        b. vaguely                  c. obviously                    d. manifestly
10. Moving vast amounts of money around the world is due to --------------
a. stock market            b. digital technology             c. governments                d. many banks  
Read the following text carefully then answer the questions that follow:
	Lightning is a streak of electricity that occurs in every thunderstorm. You see lightning before you hear thunder because light travels faster than sound. Lightning is caused when the negative charge of electricity in the rain clouds-to-cloud, but some lightning occurs from could-to-ground, where it can start fires, melt metal, or be deadly to people. Although 90% of people survive lightning strikes, they can cause major internal injuries burns, and hearing loss. 240.000 people are struck by lightning or are injured as a result of lighting every year.
Thunder is caused by the rapid expansion of air and temperature inside and around a lightning strike. Such an expansion of air is known as a sonic shock wave. Did you know you can calculate the distance of lightning from its thunder? Thunder occurs after lightning because the light travels much more quickly than sound. In normal circumstances, lightning is 0.2 miles distant from a given location for every second that passes between the lightning and its thunder. Thus, if you see lightning in the sky and hear thunder five seconds later, they lighting is about one mile from your location  


Answer the following sentences.
1. lightning occurs

a. in most thunderstorms

b. in some thunderstorms
c. in every thunderstorm

2. Why do you see lightning before you hear thunder?
a. because lightning causes  thunder

b. because light travels faster than sound
c. because lightning comes before thunder

3. Most lightning

a. occurs between clouds
b. occurs from cloud to ground

c. melts metal

4. Which of the following is NOT a possible outcome of lightning ?

a. burns                     b. death                c. electricity

5. Which of the following IS NOT true about thunder?

a. if you see lightning and hear thunder five seconds later, the lightning is fine miles away

b. you hear thunder after lightning because light travels faster than sound 

c. air expansion that results in thunder is called a sonic shock wave.
Answer these questions 
1. Why are the Capulet and Montague families enemies?

-------------------------------------------------------------------------------------------------------------------------2. What was unusual about the Globe theatre?

-------------------------------------------------------------------------------------------------------------------------3. How does Prince Escalus describe the men who are fighting?

-------------------------------------------------------------------------------------------------------------------------4. Where are the two households fighting?

-------------------------------------------------------------------------------------------------------------------------

Choose the correct answer.

1. lord Capulet is angry with Tybalt because --------------------

a. he thinks the argument between the families should stop

b. he would rather fight Romeo himself later

c. he doesn't want any trouble or fighting in his house

2. William Shakespeare was died in--------------------------

a. 1616                                 b. 1564                                c. 1595    
Say whether the following is true or false.
a. Capulet was rude to Romeo when he realized that he had been in his house. {                }

b. Romeo belongs to Montague's family. {                }
 Read the question below, then answer the questions:

 " if he is married, I think l will diel "
a. Who is the speaker? ---------------------------------------------------------------------------------------------b. Who does the pronoun he refer to?----------------------------------------------------------------------------c. Where have the speaker and listener met for the first time ?------------------------------------------------------------------------------------------------------------------------------------------------------------------------
Writing
Some people prefer a high-paying job with long hours that would give them little time with family and friends to a low-paying job with shorter hours that would give them more time with family and friends. Say what job you will choose and why?
----------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------
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